MAT 127 Lec i, T Sep &

Re(ﬁb‘_‘ : @ oiavx = L ZE Qm\ “

haad N 7 ne,

oo
e .
o Harwonic Seacs MZ:-;\- divtiaes .

S

Geomeleic Secies -

> oS 2, 3
\2:0*‘ = QA YO EHON - -
=0

k=0 DWERGES

So assuwme v#1.
n-ta gw&\uk Suw !

W
S = Z_\__k:_ ’l-l'f'-l-\"z’-l' e
" =0

WH
QA= AV -4 1



nt|

PR v
= gV\
rgn* \= Snt -

1 ——-\"“":.%w—rSu = Sh (’l"r







%

( ‘I.

h
) N
Nt D

FA-2
!wnﬂ\-; gé‘— B
Y- -$)+(5-3) (-5
-4

n=1




w: |§ S—Qw (M Cmuugwk

W=

Lo Lim qu=0.

2% X- ¢

Woawngl  H we know v&% GQn=0

hew We cum not draw auy
V\C(MQW"'
Ex: Harwowic Se6es Z_

00 W N ‘
ZNWQ { 0y Sean waoushs

Y ) M(MM)

A losicalltj eq‘uwaled Verdiow

\

Test Sor dade.fse.gc 3
“e— QAW](}M dody V\o‘- QXCS“ of




Wh-an foced Wikl ~ PmUwA. ol
Hrndirgy b Whdther o Seaits
Convirogy or direrdes we Swould

Jet wy r\*ovt. k!
l\!\M l“- Z.Otu (33 Covwv'ﬁulr



Mol. Tau, convergunt wens ek
ot

W SM': é‘au is ke N-4Wn ?‘“’"’CA

sum, Lo Lmat [ Lm Sy ensts)
N> 00 -

Not e

SN= af‘—al.‘_ e | 0”_‘ 4 GN
SN*! ‘-‘-"Q‘*'Q»L"“-‘i‘ QM—'
— SN_SN-l"'—" QM So







